Multiply by Positive Powers of Ten (])

Find each product.

27 x 10% = 96 x 10° =
91 x 101 = 57 x 102 =
21 x 10 = 18 x 10t =
59 x 10% = 44 x 10% =
17 x 10° = 59 x 102 =
52 % 103 = 52 %103 =
53 x 10% = 90 x 10% =
85 x 10% = 72 x 102 =
42 x 10° = 43 x 10° =
8 x 103 = 58 x 10 =
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Multiply by Positive Powers of Ten (J) Answers

27 X 10%=2.700

91 x 10* =910

21 x10'=210

59 x 10* =5.900

17 x 10°* =17.000

52 x 10° =52.000

53 x 10% = 5.300

85 x 10 = 850

42 x 10° =42.000

8 x 10° = 8.000

Find each product.

96 x 103 = 96.000

57 X 10* =5.700

18 x 10 =180

44 x 10% = 4.400

59 x 10% =5.900

52 x 10° =52.000

90 x 10%=9.000

72 X 10%> =7.200

43 x 103 = 43.000

58 x 10* = 580

Math-Drills.Com




